
דגשים בנוגע לפרסום הצעה לפתרון בחינת הבגרות באנגלית

ההצעה הזאת לפתרון בחינת הבגרות באנגלית היא דוגמה, ובה כמה אפשרויות פתרון לשאלות הפתוחות, והיא אינה ממצה.   .1

במהלך הבדיקה ייתכן שייעשו שינויים ו/או הרחבות באפשרויות התשובה שמעריכי הבחינה יקבלו.

ומקיפות,  מלאות  תשובות  אין  זה  בפתרון  כי  יודגש  אך  ליבון,  טעונות  שהיו  הסוגיות  עיקר  מובאות  שלהלן  בפתרון   .2

זה, ובהם:  המזכות בניקוד מלא. נדגיש כי מטבע הדברים ציון המבחן מורכב גם מגורמים נוספים שאינם מובאים בפתרון 

רמת ההתבטאות וניסוח התשובה, הקפדה על כללי הדקדוק והכתיב, התמקדות בעיקר, התבססות נכונה וראויה על הטקסט 

ועוד.

אם יתברר שנפלה טעות בהצעת הפתרון, תפורסם בתוך זמן סביר הצעה מתוקנת, והצעת הפתרון המתוקנת תהיה המחייבת.   .3

טל“ח )טעות לעולם חוזר( — בהצעת הפתרון עלולות ליפול טעויות, ואין בה כדי לחייב את מעריכי הבחינה לקבל תשובה 

שגויה.

כדי  הבחינות  טוהר  נוהלי  פי  על  לפעול  מחויב  הבגרות  בבחינת  נבחן  תשע״ה/9ד,   — הבחינות  טוהר  מנכ״ל  חוזר  פי  על   .4

 להבטיח הליך בחינות אמין, הוגן ושוויוני. אם יתעורר חשד שהנבחן הפר את טוהר הבחינות, יחל הליך של החשדת הבחינה,

כמפורט בחוזר.

קישור לחוזר המנכ“ל  

 

בהצלחה לנבחנים ולנבחנות!

https://apps.education.gov.il/Mankal/horaa.aspx?siduri=291
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זכות היוצרים שמורה למדינת ישראל
אין להעתיק או לפרסם אלא ברשות משרד החינוך

הצעת פתרון לשאלון באנגלית, שאלון א‘, (MODULE   A), מס‘ 016381, חורף תשפ“ב

PART  I:  WRITTEN  RECEPTION

(ACCESS  TO  INFORMATION  FROM  WRITTEN  TEXTS)

SWEDEN’S  SWEET  DAY

 version A / ‘גרסה א  version B / ‘גרסה ב

1. (ii)    Where you can buy candies in Sweden. (iii) Where you can buy candies in Sweden. 

2. [Swedish people eat a lot of sweets because 

sweets help] them feel happier. 

[Swedish people eat a lot of sweets because 

sweets help] them feel happier. 

3. (Because) they love candies so much. (Because) they love candies so much.

4. ONE of the following:

(1) Whole families shop for candies (together).

(2) Everyone chooses their favorite candies (and 

 puts them in a big family bag).

(3) They enjoy their candies together (with their 

 family and friends).

ONE of the following:

(1) Whole families shop for candies (together).

(2) Everyone chooses their favorite candies (and 

 puts them in a big family bag).

(3) They enjoy their candies together (with their 

 family and friends).

5. (iii) the government wanted children to have   

 healthier teeth

(v) parents wanted their kids to enjoy sweets 

 only one day a week

(i) parents wanted their kids to enjoy sweets 

 only one day a week 

(iv) the government wanted children to have   

 healthier teeth

6. (1)	 The	first	reason	is	that	doctors	have	new	
ways to take care of people’s teeth.

(2) People everywhere want to have less sugar 

(because they know that too much sugar is 

not healthy).

(1) One reason is that people use modern   

methods to take better care of their teeth.

(2) People everywhere want to have less sugar 

(because they know that too much sugar is 

not healthy).

7. (i) People in Germany eat more candy than 

Swedish people.

(iii) People in Germany eat more candy than 

Swedish people.

PART  II:  SPOKEN  RECEPTION

(ACCESS  TO  INFORMATION  FROM  SPOKEN  TEXTS)

SEA  LIONS

 version A / ‘גרסה א  version B / ‘גרסה ב

8. ii) He wanted a job with less noise. iii) He wanted a job with less noise. 

9. i) He could get close to them. ii) He could get close to them. 

10. ii) They love to play. 

v) They make sounds like dogs.

i) They love to play. 

iv) They make sounds like dogs.

11. i) How they help each other. iii) How they help each other. 

12. ii) We need to protect nature. i) We need to protect nature. 


